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1. George knows that there are 12 inches in a foot, so he thinks there should be 12
square inches in a square foot, explain why is is incorrect.
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2. Convert 50 square feet into square yards
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3. Convert 2256 square millimeters into square inches
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4, Nic is putting tile in his bathroom, each tile is a 20cm square. How many of these tiles
will fit in a 9 foot by 6 foot space. He can cut the tiles up if he needs to.
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5. The average person takes up about 2 square feet of ground space when standmg
straight up. How many square miles would be needed if all 7 billion people on Earth
stood next to each other?
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